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1. Find the product. - B
P Y 1eiX ‘VX —F< OS—~/F5

\f‘

v

v

(x = 4)(x + 2) 1 s / v‘;
(x=4)x+2) =| Y —2x —§F =t~ %

Answer: )(2 ~-2x-8

"

%
W
L=
j
\ e

ID: P4.21 EY |

2. Find the product. 7 L 7 —_— M
B — X =€ 3A/'*3;(—-7 - :

S -

(x=3)(x+3)= : ,

-/

Answer: 42 _ g

ID: P.4.31

3. Multiply using the rule for the square of a binomial. ’( F / 8 // 6( ¢ / L ) - —
/
(x+12)2 1 /f‘ =

(x+ 12)2 = & /
X -+ 29X T/5¢ >
Answer: 42 4 D4y + 144 (v SN
o ID: P.4.41 :
4. Factor the trinomial, or state that the trinomial is pn(—}- 2_) C )( (’a\/
x2 - 14x-32 a(’cl(__/{pd

Select the correct choice below and fill in any answer boxes within your choice.

2 ()(ﬂ,) (X+76)=

QDA 2 q4x-32=

) B. The polynomial is prime. )( L "‘/6}( ~+ 7 X— 3 1 =
Answer: A. x° -14:-32=T(;-—-16)(x--l: Zf = 1 — -
. A G o)
ID: P.5.19 G__
god

e —

—
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——
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5. Factor the given polynomV?

X2 -0x+18

Select the correct choice below and, if necessary, fill in the answer, bo (Wlthln your choice.

—G )
O A 2 _gx+18=
) B. The polynomial is prime. /\/ ""G )( 3’ )/ —7‘/ ‘), -

Answer: A, x -9x+18-m_3—)| Q? X"F/i = \\
Crm
ID: P.5.21

- T f— o = - . .

6. Factor the difference of two 5% / e Mc,,/ﬁ_ "

2 2 )
144x" — 169y
Select the correct choice below and fill in any answer boxes within your chonce ( K—f 4 )( (‘" )3
7 2% 129)" =
(A 144x° - 169y° = (,L\ ( ) =
) B. The polynomial is prime. C /'Z,(—f /3 ‘9 (/?)(f—- /? 7 ) -

J,.r""
Answer: A. 144x% - 169y = (12x + 13y)(12x - 13y},
ID: P.5.43
A
7. Factor the expression completely or state that the polynomial is prime. 7 ( )( l:_, X - 2, o ) -

7% - 7x- 140 —
Select the correct choice below and fill in any ang/e{:,:;:gs( \ﬁihm your chd 7 ()< '_f Cf/(}(—h ﬁ— Hﬁh/f e
/ai& | / 7( )(—(-L{)(,(/S )
T(XV=s¥ 9K =25)

l o —
Answer: A, 7x% - 7x - 140 = W(Faclor completely.) 7 ( )( ‘ )< M)
,1 ™~
ID: P5.73 < /{)( — 77X el A

O A 742 _7x-140=
{Factor completely.)
(O B. The polynomial is prime.

(!

e S ——

—
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8. Use factoring to solve the quadratic equation, Checlg)by substitution or by using a graphing utility and identifying /
x-intercepts. L C -~3) = =2 ‘
2 > €4 X - 2.3
gt il Yrl =o 0% X-3=o

The solution setis { 1. O X540 7< Gr1

{Use a comma to separate answers as needed. Type repeated,L_ots only once.

KLt =2 = O
Answer: -2,3 Xr;f \ G

ID: 1.51

. sove e o b fiop b,’ 5 = 3(—2879
x?=3x+28 Q( T"C()@"ﬂ <O

The solution set is x =4 L{ = ot A/ '-—7 -

{(Use a comma to separate answers as needed | — 9 — Y m x — T 7 = o

.

Answer. 7,-4

ID:1.5.3
e ————— T e W e el R [ 1OR) I 5 (g —
= =
10. Solve the equation byléori}/ ( ZX l)[ 95( +‘3
o+ 1o 2~ =0 Of H+¥)=O

2xX—( (= o0+F( ,p
The solution set is . CK (// -f—? ....7
(Use a comma to separate answers as needed.)

X = af’L (f,(f-_: —_
Answer. 1 7
777 £X C

ID:1.5.5 / .

v —

T
11. Use f@:i;@ve the quadratic equation. Check by substitution or by using a graphing utility and identifying

x-inter /——g) Cf)( ( )(....f.— 3 ) -5

4x% +12x=0 B
= O e =2
The solution set is {]:} (f{ @ X +32
{Use a comma to separate answers as needed.) (/X 0 0 ﬂ )(—PS J — - 3
t.’/-

Answer: 0,-3

O

ID: 1.5.9 l
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Ty 2 3 . ,
12. Solve the equation by factor.;q/ S )()< BX/ __{_1( :(f X —< / /
5-5x=(3x+4)(x—1) O 3 X’L"’fz('-"({ R ; a :

The solution set is {:}O 2 )(L +GX— 9 M She
{Use a comma to separate answers as needed.)
0=3( ¥Leix—">)
Answer: 1,-3 O

ID; 1.5.13

13, Solve the equation by the square root prop

(x-3)7 =36 \@" =

What is the solution set? )( -3 =

{ } (Use a comma to separate answers as needgd,
XK-3=-G 0K

Answer: =3, 9 /(”3{3# -G < } Oﬂ' ?("3*3

14. Solve the quadratlc equation by completing the square

x* +6x=72 X 'f'c)(—f(z(é)) 72+ (L)) / %f} D on
i N,
What is the solution set? {1*61 "('(3) 72 "(‘(?/ ¢ %—fzﬂ'} "_—-?,._3 3 ./}

X%6c+5 ¥
Answer: 6, - 12 ( 3}()('—%@) Z/

ID: 1.5.47 é{—-ﬁ’&) Z/
g Sl -7

15. Solve the following equation using thelg

X% +0x+18=0 ( cl) tM{/ =
A= e sifaton C{:,“ ) L X'"—-Ci-.«—z 04 Xz 5

The solution et is 2
(Type an exact answer, using radicals as needed. Use a comn?to/separate answers as needed.)

= ~9FYI 12 c % X~
& = - /”‘
ID: 1.5.65 X - 92y 7 i)

Answer: - 3,-6
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< —(/
g ye-(~2)t C9 14 4

16.
Solve ing the quadrahc formula, ( 1%3 solution set is
2 Xz /() -f( //yo - &‘r’? (Type an exact answer, using radlcals as needed. Express
x“-10x+61=0 '2 complex numbers in terms of / . Use a comma to separate

answers as needed.}

Az L=~ c=(f
’ YtV Yy = X< ftc‘/f/

Answer: 546i,5-6i
)(':/a:t/zJ {" CrlA D O
e M

ID: 1.5.73

17. Solve the equation by th@ X~ - 7 ﬂ/ (' ""(&)( Y

-1 =0 *
2 exey 12X XD A rre—
w1, b\ o3 XS TIITES F e
The solution set is g 7 <
(Type an exact answer, using radlcals as needed. Use a comma to separate answers as needed.) _ ,(/, /
Yo 12l = =g 01 Y
vz 7
Y=t
[
_ & _
18. Solve the following equation. W
"9 XS A7)

4x? - 56x+196=0 ¢ o~ ) ___7 o
Thesolutionsetis {  }. & /( —é/g( X.:)7’;Q g )(-——7 =

(Use a comma to separate answers as needeyl.)

Answer: 7

ID: 1.5.95
h-‘_'_'_ S——— - ——————

19. In a round-robin chess tournament, each player is paired with every other player ance. The function, shown below, models
the number of chess games, N, that must be played in a round-robin tournament with t chess players. In a round-robin
chess tournament, 45 games were played How many players entered the tournament?

2 Y5 = /-:ﬁ ,é—f?’— o1 O(C, 6,/ 770 20470
N & x— — Z
2 ‘ O~ €= /°

How many players entered the tournament?

: players (Simplify your answer) - S
‘/S'fl)" [ (¢4 cﬂr’j‘\ ZE2A

Answer; 10 ? o= '6 — £ C_ M . /

€7

10151310 6

=0 R o= O]

5 648 N:M PM
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ixres) K+ ?(—3)-—-{-35“ = €37

20. Solve the given radical equation. Check all proposed solutions. ar "'2"7‘ )
-~ TiLa =
JIT DB =x+7 3 X1l -(,(’f?/(.(‘f?} r
Ox~€2c =YLt WP XY T (oo

Select the correct choice below and, if necessary fill in the answer box to complete your choice. ‘1 Y

OA 3x 25 = )( ThA+eT | BCOFe = FTT
- The solution set s { mr T "f"f ]

{Use a comma to separate ans-.r,iers as needed.)

() B. Thereisno squtionO" ' —f/‘f‘X'—f(/ T —3¢~¢ 5
O=xt—lIX+2v

Answer; A, The solution set is { -3 } {(Use a comma to separate an

O X~ 3/@*6’)
ID: 1.6.15 )(»f}-*\) XFF = >

o s(~f5 g

Evaluate the function @:/4- x+_ al tnegrver v ;
a. f(1) b, f(x+8 ¢ f(-x) /C\/} )( .-f 5 /(WAC

a. f()=[ | (Simplify your answer.) ((’ ) — e 7//)-;‘ G
b. f(x+8)__ T o (s;mpllfyyouranswer) ﬁ{ H/(/) ’7{' ? (()'fC

fis fer g ¢
Answers 16 - m

G
x? +25x + 142 ) - S(/(‘ff)—f
<o {[(;;g)) f('f)(/(—ff)"(' lCatal

D21z ///-—(',Y)-— X 5K ¢ X TCY T4~ €

. m —(—er—,c/%aB

/(X) —Qéﬁs(_)(/_ﬁe)
)= /——,c)(—-x) ~+ SC—K)+ 6

MAI3I4FIESTACOREQI4READY090-Alfredo Alvare

c. f{-x)= B (Simplify your answer.)

1of 48 6/18/2019. 12:45 PM
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22.
Graph the given functions, f and g, in the same rectangular Ay

coordinate system. Then describe how the graph of g is 10
related to the graph of f. ]

fix)= x
9(x)= x+5

Use the graphing tool to graph the functions.

How is the graph of f shifted to get the graph of g?

\ A

The graph of g is the graph of f shifted (1).
by units.

A0

() O w %) = X

O down r £0) =< b
Y g

Answers

(1) up

ID: 2.1.39

Tol48 6/18/2019, 12:45 PM
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23.
Graph the given functions, f and g, in the same rectangular Ay
coordinate system. Describe how the graph of g is related to 157
the graph of f. 1
()= -x2 .
g0 = -xZ+4 ]
5

Use the graphing tool to graph the functions.

v

A

How is the graph of g related to the graph of {? 15 10 5 5 10 15
(O A. The graph of g is the graph of f shifted 4 5
units vertically down. ]
(O B. The graph of g is the graph of f shifted 4 1
units horizontally right. Ul
() €. The graph of g is the graph of f shifted 4 ]
units vertically up. 15
() D. The graph of g is the graph of f shifted 4 Y
units horizontally left. '
Answers ¥ _ T ~{ |—/
15? @f) = —=(~1) ) o
- —_ - -4 o —
4 A L.( i |
] A% ) 22D
I.(d, k f\ - G e / 0 ) L
it G/ <

C. The graph of g is the gni'-aph of f shifted 4 units verticatly up.
(< ) =X tY
o2ias D= Doy = —(0F) vy = ~(r4 (3

o) (o Lty = —ONO) €y < 0+ ¢ {(/
9=~y = ~((0 e = T Y =S

8 of 48 T EITER049.12:45 PM
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24,
Graph the given functions, f and g, in the same rectangular Ay
coordinate system. Describe how the graph of g is related to 15
the graph of f.
9= x 10;
g0 =|x| +4 :
5
Use the graphing tool to graph the functions. ]
How is the graph of g related to the graph of {? < T T T T ,>
-15 10 5 5 10 5
) A. The graph of g is the graph of f shifted 4 i
units vertically up. -5
{0 B. The graph of g is the graph of f shifted 4 ]
units horizontally right. o]
() €. The graph of g is the graph of f shifted 4 i
units vertically down. .
(7 D. The graph of g is the graph of f shifted 4 15
units horizontally left. \ \" L'( g . { /
- ) | =1
Answers &74/ pot / X V =
~|
’/(_.’)'.: /—// =4 o o
& &
A()/ - / ()/ ZA ,J——
< |
st =l
- xltY X19#)
g0~ ol 4
[ SR
| o s
& o2
A. The graph of g is the graph of f shifted 4 units vertically up. ) / 0 / “ k/
ID: 2.1.45 q/d)
w
ﬁ ( {) s / t (/
j( < s

9of 48 6/18/2019,12:45 PM
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I| ) (Y -L_h = :
25, Use the graph to determine pyo ) Sn jﬁﬁ A
44 ¢

(a) open intervals on which the 2_‘ i f

function is increasing, if any. j . AG" C
(b) open intervals on which the rE54320] 1AaAdAS6 7 ét P _

function is decreasing, if any. +21 f
(c) open intervals on which the “H ! |

function is constant, if any. S II" |

I

(a) Select the correct choice below and, if necessary, fill in the answer box to complete you

(O A. The function is increasing on the interval(s) . é £C s L\
{Type your answer in interval notation, Use a comma to separate answers as needed.)

(O B. The function is never increasing.

{b) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. The function is decreasing on the interval(s) .
{Type your answer in interval notation, Use a comma to separate answers as needed.)

() B. The function is never decreasing.
{c) Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(O A. The function is constant on the interval(s)
{Type your answer in interval notation. Use a comma to separate answers as needed.)

{0 B. The function is never constant.

Answers A. The function is increasing on the interval(s) |{ = oo, 2),(3, 4} .
{Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The function is decreasing on the inlerval(s)i (2, 3),(4, o) l

(Type your answer in interval notation. Use a comma to separate answers as needed.}

B. The function is never constant.

ID: 2.2.9

e

/ﬂCre-,,, (<22 2) U /3 )

Il’c,\ (2,9 (88—

——— -
—-—-._._____-_-_-_— e
IR

10 of 48 6/18/2019, £2:45 PM
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26.
The graph and equation of the function f are given.

a. Use the graph to find any values at which f has a relative
maximum, and use the equation to calculate the relative
maximum for each value.

b. Use the graph to find any values at which f has a relative
minimum, and use the equation to calculate the relative
minimum for each value,

K({

hutps://xlitemprod.pearsoncmg.com/api/v 1 /print/math

Lv“"\
L/ )f(x) 2x° +6x% - 18x + 5

a,-*

[-5,5,1] by [ - 80,80,10]

a. Select the correct choice below and, if necessary, fill in the answer boxes to complete your choice.

() A, The function f has (a) relative maxima(maximum) at
maxima(maximum) are(is)
(Use a comma to separate answers as needed.)

() B. The function f has no relative maxima,

and the relative

b. Select the correct choice below and, if necessary, fill in the answer boxes toc complete your choice.

) A. The function f has (a) relative minima(minimum) at
minima{minimum) are(is)
{Use a comma to separate answers as needed.)
) B, The function f has no relative minima.

Answers A.

The function f has (a) relative maxima{maximum) at

are(is) 59 [
(Use a comma to separate answers as needed.)

A,
The function f has (a) relative minima{minimum) at 1 and the relative minima(minimum) are(is}
=5 |

(Use a comma to separate answers as needed.)

-3

and the relative

5;/&'04»-5 Cc/r:c, 'y

11 of 48
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27. The domain of the piecewise function is ( = co,c0). T
a. Graph the function. f(x) = '
b. Use your graph to determine the function’s range. x=3 if xz-4

a. Choose the correct g
) A,

Q b.

200 pAth

b, The range of f{x} is | (Type your answer in interval notation.)

- Y, ___'({é “) QPEY Cudls
VJL (—3- ( X7-<f) Close Crely

cn (%

Answers

(- o0,m)

ID: 2.2.47

. T

28.

e
f(x + h) —f(x)

Find the difference quotient of f; that is, ffind h , h#0, for the following function. Be sure to simplify.
l
2 - —
fx)=x° - 3x+7 ot 3 ( 3
wetser D (08 =3 (eeh) ) (K =3 ¥e1) -
R DLk P L —
- r}: Ll = (Simplify your answer.) 6

T ) — (=21 X THT

Answer: 2x+h-3 /7

ID: 2.2.61 )(+>(17—()<A»(/Z_.3( 317 "f"?_')( —(-3)( 7
/(fl/l\ b3 ,4_3_1,:,:7/ W —f'}/‘/i._

h+ b~

2of48
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29.
Use the graph of y = f(x} to graph the function g(x) =f(x}-2. Choose the correct graph of g below.
y = Hx)

Ay
G-
4

24

L B

&
kN
Ay
N
]
o

Answer:

£3 of 48 6/18/2019, 12:45 PM
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30.
Use the graph of y = f(x) to graph the function g{x) =f(x-2). Choose the correct graph of g below.
y = fx) P 5
Ay ) A. 1 B.
oy Ay Ay
] 6 67
44 ] ]
- ] X
2 T
6 1, 6
] . 3
I T T LI 1 T > -6
6 -4 v S 4 &
24 ) D,
4] i
-6 . x
o—:—o
6 3 6
-6

Answer:

14 of 48 6/18/2019, 12:45 PM
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31.
Use the graph of y = f(x) to graph the function Choose the correct graph of g below.

g(x)=f{x+1)+1.

y = f(x}
Ay
6-

44

vE

&

y
-

'
(%]
-
]
i

Answer:

ID: 2.5.5

150f48 6/18/2019, 12:45 PM
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32.

Use the graph of y = f{x) to graph the function g{x) = f(x + 4}, orrect graph of g below.

y=1x)

Answer:

_ masw 9" )/_(/\/ ’; O

\

16 of 48 6/18/2019, 12:45 PM



MAI1314FIESTACOREQI4READY(90-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v | ‘print/math

33. —r—
Use the graph of y = f{x) to graph the function Choose the correct graplyof g below.
g(x)=f(x-2) + 4.

y = f{x)
Y
3
6
4
2
85 4 2 NI/ S8

iD: 2.5.21

17 of 48 6/18/2019, 12:45 PM
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24,
Use the graph of y = f(x) to graph the function

gx)=f(x—1)+5.

y = f(x)

18 of 48 6/18/2019, 12:45 PM
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35. Begin by graphing the absolute value function, f{x) = Ix| Then use transformations of this graph to graph the given
function.

h(x) = |x - 4|

What transformations are needed in order to obtain the graph of h{x) from the graph of f(x)? Select all that apply.

] A. Reflection about the y-axis
[71 B. Reflection about the x-axis
(] €. Vertical stretch/shrink

[C] D, Horizontal stretch/shrink
[T] E. Horizontal translation

[ F.  Vertical translation

Choose the correct graph of h(x) = |x — 4| below.

19 of 48 G/'18/2019, 12:45 PM
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36. Begin by graphing the absolute value function, f{x) = fx| Then use transformations of this graph to graph the given
function.

h(x}=x-2| -

What transformations are needed in order to obtain the graph of h{x) from the graph of f(x)? Select all that apply.

"] A. Reflection about the y-axis
] B. Horizontal stretch/shrink
7] €. Vertical stretch/shrink

("] D. Reflection about the x-axis
[l E. Vertical translation

1 F. Horizontal translation

Choaose the correct graph of h(x) below.

O A

ID: 2.5.85

/44(14
= abs (¥

han Géj ﬁ?cm
51&2) i

— 6182019, 12:45PM
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37. Begin by graphing the absolute value function, f(x)= |x| Then use transformations of this graph to graph the given
function.

g = - |x+2|-4 ‘;/(J'

What transformations are needed in order to obtain the graph of g(x)&g{n the graph of f(x)? Sﬁé all that apply.

EI{ Vertical translation (. )/)__. ___{ X 71, 7 {....-—-(f

[T] B. Reflection about the y-axis
{71 €. Vertical stretch/shrink
IZ]/D. Reflection about the x-axis
(7] E. Horizontal stretch/shrink
EXE.  Horizontal translation

U se q VCWAH Cefeul.os,

Answers A. Vertical translation, D. Reflection about the :g-axls F. Honzontal translation

£

- :/744 Ly hoew €S
Lll-“*’LJ ()(,__(__,2)

77’}:‘: e //:: b sncAerss
ID: 2.5.89 — == —
S —— S e e e o e Rl Sl
38. Find the domain of the function. T
f(x) = {12 -2x /R’)T (/ /2’27( &g
What is the domain of 2 _7, 4 /2.."" X >/O 'é(]: (/A)(“fﬂ
. (Type your answer in-interval notation.) A A—X-—f B0
Answer: (- 00,6 / & ZX'—' ,L %’GF/L’ e -
S ‘,& i Scfu a_,{
— Vi @ F2H5S
L Pem —iX < % A,.H a}z)gfw Bt D

zmm\

6182019 103 PRI
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39. f
First find f + g, f— g, fg and —. Then determine the domain for each function.

f(x)=2x2 +14x-36, g(x)=x+9

{f+a)(x}= (Simplify your answer.) )f;f ~F j(;q -
What is the domain of f+ g7 (Z{L__f_/%\/__ 36) -f- (X,_f_cf) -
- (-3]o(3) XY+ (¢ x5 6t XTFT=
S 245 +/5X—27%)
Q —_—
=) <éon. in. (—22 00) >
O (- o0.00) N =

(F-g)(x) = | (Simplify yo;;s;er) ;fx/ — j'(;() <
What is the domain of - g7 éx (X~ 26} '_(X'fq) -

S X L yX-36— X—1 %
N SRR
7 22 Ao G

(f9= 74’} ° JOf =
What is the domain of fg? ( 2*% _’L / y)( 3 G ) ()("fcl‘ )

(Cj) o X t{ K/LYJC—”(://_G X —36 K—52¢ =
O ['w—s] [ ] Q”X s gz_{__ T ?OX""3 Yy ;“‘
[% ) Corme .6’7_’_} M 3

O (=00, -9~ 9,00)

{é] (x)= (Simplify your answer.) ’@ -
K

L
-3¢
X 4 /¥Y o

f
What is the domain of E?

O (=00, = NU(-9,00)

O (= 00,00} B X—/-al [

O [0,00) '

O (-9,00) 2 ()( L-(-?X "ﬂ'f) ;f =
X9

T (K=z? (’(‘*C?] ‘
e »

220f48 = 618/ 7019 12:45 PM
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Answers 2,2 4 15x - 27
(- co,00)
2x° +13x - 45
(—o0,00)
2x° +32x% + 90x - 324
(= o0,00)
2x-4
(=00, =9 -9,c0)

ID: 2.6.35

hitps://xlitemprod.pearsoncmg.com/api/v | /print/math

40, For f(x) = 5x and g{x) = x + 8, find the following functions.

a. (fo g){x); b. (g o A(x); c. (fo g}(3). d. (g 0 N)(3)
a. (fog)(x) = |
(Simplify your answer.)

b. (g e Hix) =
(Simplify your answer.)

c. (fog)(3)=|

d.(goh3)=

A xA%)

Gt X0

Answers 5x + 40

Bx+8 j(_/a)) S
s J(59F
ID: 2.6.51 (’)9—!- J=

o T

(Fr"ﬁ)@:
H sa)) =

SUx-+8) ©

-
—

——

/

g,[o 5)(X) = §XT7°
)< £BI¥
fug)( 3 ot Y

Lon)(3)7

< 0E) )z Sx-+3
4F) (3) = S(9+ §
(5P (3) =/ +3

it

fo (7)('3'):: u

f_(@o@ (3)= 23

e

Tinf4R

6/182019. 12:45 PM
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41, Forf(x)=x+4 and g(x) =5x + 1, find the following functions. /4 9 u('i' -

a. (fog)(x). b. (g o f)(x); c. (fogl1). d. (g o Y1)

b. (g o fi(x)=_ 5
¢. (foglt)= ] ;ﬁ —f{:(f =
d.(gof()= 5Ty
Answers 5x+5 _5/ / 00)

Sx+21 ‘ =

10 j(){—r%)

”s c(x )t ~

S T )

ID: 2.6.53

AT

hittps://xlitemprod.pearsoncmg.com/api/v]/print/math

Fo5)a) < 4 st

(éoa)m— S5

§x~2 }

(G0H£)A =

/ (GIF)(1) = S(D~+2 |

o)1) = 52

Oco«-zgcg/

42. Forf(x)=2-x and g(x) = 2x° + x + 3, find the following f j’
O A -

a. {f o g)(x); b. (g o N(x); c. (Fo 0)(3); d. (g o )(3)

a. (fo g)(x)-! I ( fﬁ(‘))\
(Simplify your answer.) ( 2x 1._';, X3 ) -
b. (gofix)=_

2— (Mﬂﬂ) z

(Simplify your answer.)

c. (fog)3d)= L —— 7 .

—ixl — —f
d. ( 0(3)—:1
) IR
Answers _9y2 -y -4 j/ ‘/5()) z
2% - 9x +13 ( 2—x )t

B g (2t) F (2A) 3=

Y2 (A Ne) F (2x)F3E
02659 2( (]&"'7«3("‘2)(—{'7(1') il (L"ﬁ)’(';
Z(‘F (f)(—f')(l} + (2—X)F3 =

— VY XfixtFe—|X+3 =

@;(frw)/

(Fos ) e~ xtx—

fos )(7)=~2 (3)0— (1)

(/09 )z 1 ()3 —(3)—/

(50460 = 2x L5try
oLY2)<2(3)'—5(3)¢17
o)) L(ND~5/D+) 5
d’[)f% [7-27 -f) ?

7 /
24 of48

—————
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| [Q./——\”“; - /2,9} ad (1 (V
43. Find the distance-between the pair of points. l “ ( {L S
(2,4) and (14,13} b = a3
Q&lb o MC/\/‘-y(LJ _.F(V’( __..7')
The distance between the points is | units,
(Round to two decimal places as needed.) tE {5 Ao = u—/(z) (/ y) ) L e ( /4 / ({ g )) L

Answer; 15 jhbjraﬂ‘( ‘_(ffzﬂ/"() —+ (Cfﬂ{QL
R Y A Y e L

R ‘i‘:f; ‘j_#(ﬂui / .._____._@‘) —

44, F,mlme segmentwuththegﬂmﬁm’—__ [Z/ V) (?'L-/( /6//“))

(2,8) and (6,10) A/\ il ’('L s

Ty Mg (AT T
Answer; (4,9)

e ((ZJ-W (?Hm)
A Tod =7 20 el )
prapd =BT B
%/\ ¢ /’ /ZJ- »\,J = / % Z—Y

ID: 2.8.18

W‘ '%_/;QHJ—T

(———*—H:—ﬂ\

9
9; )

Sh——

T AF AR 6/18/2019, 12:45 PM
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\SGW write the _eaual.n?a?the circle in y

standard forn?“TH‘Errl:letennIne the center and radius of the

circle to graph the equation. 8
X2 +y +4x+2y+4 0 &

X ey . :
The equataon in standa form i -

{Simplify your answer.)

Use the graphlng tool to graph the circle. 10 8 _'

)(EW)(—HZ) 9 #67 ‘7‘(/} C —Fr (Z) + (1)

M*ﬂl* Ly~ ==+ %+ |

X+ 0t D+ (909D = | 2
ANSWerS (y +2)% +(y + 1)° = 1 Q(—f;) ~ /9—:‘-/) L:.‘

10 Céwa: F—Z/ "l) /Zfﬁ/lwtﬁj/

6 2/’y7

ID: 2.8.53

x__;/’—\,/—\,/———\

M nf4% G/182019, 12:45 PM
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46. In the following exercise, find the coordlnates of the verlex for e parabola defi nsd by the given quadratic function.

Vol — ()
f(x)=2x +Bx+2 < /2(2) (Z(z’)

ThQZ LB T-L dered
"
e vertex is l/(Hype::n ordere palr) /(-J/ l/’//""-’/‘z A )

Answer: (-2, -6} VJ/L( / "'Z / ( —-‘U) \ @ —6
v - (—'Z 2(#2) e g(-1) —f% : ))

7 VA t, 2~ )(2) e A7) _ s

——

T
47. Find the coordinates of the vertex for the parabola defined by the given quadratic function.

f(x)= -x° + 10x+4
The vertex is ' . (Type an ordered pair.}

Answer; (5,29) CZ = l /O \'/J

Cov
ID: 3.1.15 VC/-L/ = /( ))
vela = (22 £ é—é—/

Vsl [S /(5“))
ol = (5‘ -(§‘)L-7'/O/3}-f(//

oy, ‘?(f/ —(s)(5) ~+/As) Ty )
W/-L/ el — ! 5~ SVTrY
=(s - /

27 nf 48 6/18/2019, 12:45 PM



MAI1314FIESTACOREQI4READY090-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

“ Use the vertex and intercepts to sketch the graph of the Ay

quadratic function. Give the equation of the parabola's axis 104
of symmetry. Use the graph to determine the domain and B_'
range of the function. |

2 ®]
f(x}=(x-4)" -8 1

4

Use the graphing tool to graph the function. Use the vertex 2-
and one of the intercepts when drawing the graph. 1 x
The axis of symmetry is 40 B & 4 -2 2 4 & B8 10
(Type an equation. Simplify your answer.} -2
The domain of the function is L _4_
(Type your answer in interval notation.)
The range of the functionis | 1. -6
{Type your answer in interval notation.) -a-‘

Answers

5, 1)
7’:#\[)/0'/4/ [0}

)(—-M L"f‘-‘ﬁ\zi

0 8 6 4 -2

24

4

CC-/JC». (cl/r/_h

-

e S

B oRIE - 6/18/2019, 12:45 PM
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49,

29 of 48

Use the vertex and intercepts to skeich the graph of the
guadratic function. Give the equation of the parabola’s axis
of symmetry. Use the graph to determine the function’s
domainand ranges—.
f(x) = x® -Bx+5
-

b1

Use the graphing tool to graph the equation. Use the vertex
and one of the intercepts when drawing the graph.

The axis of symmetry is I .

(Type an equation.)

The domain of f is .

{Type your answer in interval notation.)

The range of fis ' !
{Type your answer in interval notation.)

Answers

ID: 3.1.27

https://xlitemprod.pearsoncmg.com/api/v] /print'math

ia

L 2o

10
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50.
Use the vertex and intercepts to sketch the graph of the Ay
quadratic function. Give the equation of the parabola's axis thty
of symmetry. Use the graph to determine the domain and 8+
range of the function. &
f(x)=10x = x° - 16 ]
2
4 x
Use the graphing tool to graph the equation. Use the vertex 10 8 6 4 5 1 2 41 &5 B ,'ﬂ:
and one of the intercepts to draw the graph. -2
The axis of symmetry is ' '4_-
(Type an equation.) 6]
-6
The domain of the functlion is l b 101
(Type your answer in interval notation.) _ ey 12
The range of the function is . S (/.LQ ~ 14
(Type your answer in interval notation.) V 16]

Answers
10 8
—~A l—’/ y) /- s e S T AT
Xx=5 \7 u% : Mﬁ’{ jVLﬂl\ t...)
. CC(Ch (r..J\)'-/
{-00,9] P
ID: 3.1.31

e sl

G of48 6/18/2019, 12:45 PM
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51. Consider the functign f(x) M \/:(/ ‘L{’\( - / —-?é“ J__-,,éC_:%i ))

a. Determine, without graphing, whether the function has a minimum value orfa maximum value,
b. Find the minimum or maximum value and determine where it occurs,
c. Identify the function's domain and its range.

éﬁi*{x4+&w — ¥

a. The function has a (1) value, A<~ } b 20 ( ==Y
b. The minimum/maximum value is . Itoccurs at x =
a— o) (L
R &
¢. The domain of fis | |. (Type your answer in interval notation.) V —@( 7 ( 27 ) 2 (,Z
The range of fis| {Type your answer in interval notationP/ 4 | _ ._ZQ ((Z,\J ) )
Q —

" Vo= (s % 5
Vorle - (S/ ~2(5) Steo (5)—< )

Answers (1) maximum V

46 ?’Z’(S’- -—Z_(&")(S‘) —~ & (s)—% )
: Ve < (s, " —so /=) (s, %6
(= o0,00)
(- c0,46] %6 ) \' /L%(
.y
S N 7 s il Al Cﬁ’;m
52. Dimdm“: 5 7 c  — -
(2x° +6x% ~x+5) +(x-3) ~—: e 2¢ s

I = (. 35 (//o

in the expressions,) r e\_\_

N S S —
(Simplify your answers. Do not factor. Use integers c or_fra_ctiom-tu@mbe
WS SPathedis

)

Answers 2,2 4 12 + 35

110
ID: 3.3.21
— /’/’ob‘a—.fﬁ‘ Z:-
53. solve the equatiorf X3 -5x% +2x+8=0 given that - 1 is a zero of f(x) = x> - 5x% +2x + 8. o
1‘5 I(/ -+ ¢ £
The solution setis ﬂ:ﬂ» {(Use a comma to separate answers.as needed.) / J = 1= !
s 2T ‘
Answer: - 14,2 ~ Cﬁ:__ )(’Z'f — a /.._y,f —_
f —¢ 3@
ID: 3.3.43 X&_—. G/( —~ f_-: )

il nf4ag s
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54, The following function is given.
f(x) = 5x° - 7x% - 45x + 63

a. List all rational zeros that are possible according to the Rational Zero Theorem. Choose the correct answer below.

S -
1 5 1 5§ 1 5 1 5§ 1 5 _L‘:____ *
~
A e e e S L G o — p— — =
DA £12543, 238 g tp g d . 250 E 5t gy
L s s . i - = - — t/sl’
e 1 3 9 7 21 63 g
(B £1,£3,29,47,221, 283, g 2 g b gt g i a ~ -

e — ____5' 5 i 5' 5 = %C} W
& c 1 5 1 5 1 5 1 5 1 5 = |
ot . i1,15,t3,13|i9,t9't7.t7|t21-121r163|t63 ’4,- S‘_' '--.._\__.-H\
1 T

~ 3 6 7 21 63
) D. t1,13,i6,t?.i21.:t$3,i-5',t—i—,i—,t—,t—

it ts *s ’Z{Wf——— - \
oy d(m +5, ¢/
\ .

b. Lﬂ'gfe_synthetlc__cgy_ishn-ﬁ test several possible rational zeros in order to i ify.one actual zero.

One rational zero of the given function is | .
(Simplify your answer.)

¢. Use the zero from part (b) to find ali the zeros of the polynomial function.

The zeros of the function f(x) = 5x° - 7x° — 45x + 63 are | .
(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as needed.) e

s e LR
e a9 7 21 63 "'"“QS( ejmyuur\\

Answers ; 1 \ -
B.#1,£3,29,27.421,263, ¢ s st T 1 5.t 5t - MARGET

R Cln

ID: 3.4.11

i Sy o
Ex=Px +3)= O

sx ~1=0 ot XFEEO

¢x(—7+ 720t ON Xt3~3 T0 3
cy = 77 C) )(’Z"j\\

1Y AF AT

6/18/2019, 12:45 PM
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L
55. The following equation is given. 0 9 S L"‘ 7L_

(x®-5x%-9x+45=0

a. List all rational roots that are possible according to the Rational Zero Theorem.

(Use a comma to separate answers as needed.)

b. Use synthetic division to test several possible rational roots in order to identify-ene actual root.

One rational root of the given equation is .

{Simplify your answer.}

¢. Use the root from part (b.) and solve the equation.

The solution set of x = 5x -9x+45=0is

(Simplify your answer. Type an exact answer, using radicals as needed
expression. Use a comma to separate answers as needed.)

se integers or fractions for any numbers in the

sters 1,-1,3,-345-455-515-159,-9

> aAhede c((wm

5 “—._._._._/
5.3,-3
— — ey
ID: 3.4.17 3 1 3 j s

( — L ~(s @Hff"l
 %9—lx—{s’
K +3)K—5)c0
ry=o ot Kme=e
O/{ /(,.—é—_,cj"fOf'r

11 afdR 6/18/2019, 12:45 PM
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_:_\‘\
56. An incomplete graph of the polynomial h.@n fx)= - x> =% +17x =15 is-
shown on the right. T S R S 3\

a. Find all zeros of the function.
b. Without using a graphing utility, draw a complete graph of the function.

[-6, 0. 1] by [-55. 10. 5]

a. The zeros are |
{Use a comma to separate answers as needed.)

e

._\_\I

b. Choose the correct graph of the function below. The sale for each g{app is[—10, 10, 1] by [- 85, 40, 51—

) D.

40

Answers -5,3,1

— . 4 /‘ - _-_#_L_'_'_'_“'—-a.
ID; 3.4.53 v" =X X 2 7_/7)("‘—‘/:7')

57. Find the vertical asymptotes, if any, and the values of x corresponding to holes, if any, of the graph of the rational function.

_ x+3 )(()(r-ﬁf):c)
h{x) =
x(x + 5} _/QAJ(' {,_ 0/( /("F.'S— —

Select the correct choice below and, if necessary, fi f Il in-t er box to complete your choice. (Type an equation. Use a
comma to separate answers as needed.) "

O A. There are no vertical asymptotes but there is(are) hole(s) corresponding to

O B. The vertical asymptote(s) is(are) and hole(s) corresponding to

O C. The vertical asymptote(s) is(are) . There are no holes.

(O D. There are no discontinuities.

Answer: C. The vertical asymptote(s) is(are} . There are no holes.

———

34 of 48 6/18:2019, 12:45 PM
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58. Find the vertical asymptotes, if any, and the values of x corresponding to holes, if any, of the graph of the rational function.

e
v B (Y [/

Select the correct choice below and, if necessary, fill in the answ:
fraction. Use a comma to separate answers as needed /

O A. Vertical asymptote(s) at x=
O B. Hole(s) at x =

l-// C. Vertical asyrnptote(s) atx= _ and__hole(_s) atx= F )(__ (d‘ ( = J-T /
() D. There are no discontinuities. @
Answer: C. Vertical asyrmptote(s) at x = 1 and hole(s}atx=_ 4
- 'L( /( h lf = i
ID: 3.5.33 @ 4 57‘ 7"‘”’&— A/f) X =
— e
598. Find the horizontal asymptote, if any, of thg graph of the rational function. /5
1/ 7 X X/, s
f(x)= /i —1 < [ ot 6 =
5x%+6 SX ¢ S¥Yt 4 &
(—=00 T (—> Xt xX&
Select the correct choice below and, if necessary, fill in the answer box to complete your choice , 3
~ . / <
_} A, The horizontal asymptote is . (Type an equation.) { I
- i no hori X—>nes ST Xt
() B, There is no horizontal asymptote.
9
Answer: A. The horizontal asymptote is y=0 . {Type an equation.} 0
- =
ID: 3.5.37 > o=
i ._g;d2:-..
60. Find the horizontal asymptote, if any, of the graph of the rational fu?ction. 27 «£ {
27 o Al
27x / [ =X L 7 S
NPT X—/—? ( Gxleq )= 17 G0 1
X N - .
< Xt X702 YL T v
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 2, 7
) A. The horizontal asymptote is . {Type an equation.) - 4 r’-, ’ C? — _’
") B. There is no horizontal asymptote. )(—-9()0 =
— 27
Answer; A. The horizontatasympteteis | y=3 . (Type an equation.) — 7 —F o
27

15 AF AR - 6/18/2019, 1245 PRT
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61. a, Find the slant asymptote of the graph of the ratuonal function and b, Use the slant asymptote to graph the rational
function. l ~7_

X% +x-2 /7 _—) 1 56 :X%
fx)= ———— : i % 5q . Lok
O CANVT dehL/

(fEﬁ{r c—;‘-jr[ .-i'fﬁ—(f—tr. -;i\w Serm 3
&ct the correct choice below and fill in any answer boxes within your

choice. ,[“‘0{ \7{,‘ e 077¢ /{_’f_ Xz o
Ohy=____ ) - @)/ -t . T <

() B. There is no slant asymptote. o -7 -7

b. Use the slant asymptote to graph the rational functien: 2 \ 97/
Y —ten L’f'ﬁr/}‘# < 0 —‘)

First determine the symmetry of the graph of f.

.\R

() B. The graph has origin symmetry: f{ = x) = = f(x).
() €. The graph has both y-axis and origin symmetry. 5
(O D. The graph has neither y-axis nor origin symmetry. Q_

) A. The graph has y-axis symmetry: f{ = x) =f(x). _—

X—7

Find the y-intercept(s). Select the correct choice below and fill i§1 any answer boxes within your choice.

O A. The y-intercept is @/ 0()("—7 ) < ( /( "F)("’ 7—-)

(Type an integer or a simplified fractlon Use a comma to separate answers as needed._) 7
() B. There is no y-intercept. v )< _

Find the x-intercept(s). Select the correct choice below and fill in any answer boxes wnthl?.bur choucj ()( 4 a

O A. The x-interceptis
(Type an integer ora s1mpllf ied fractlon Use a comma to separate answers as needed.) )( - 2_,_

(O B. There is no x-intercept. X ""‘/ 0 n

Find the vertical asymptote(s). Select the correct choice below and fill in any answer boxes within your choice.

O A x= )("’(“"("U’f OK )(—FZ—-Z “u—¢

(Type an integer or a simplified fraction. Use a comma to separate-answers.as needed, X %
() B. There is no vertical asymptote.

Find the horizontal asymptote(s). Select the carrect-cheice-below-and-fl=n=l
ymp (. Select the

QA y=
(Type an integer or a simplified fractlon Use
() B. There is no horizontal asymptotg.

aco s needed.) ___d__F___f'

fx‘?ﬂ'——z) =017

vertical asympjéte, thesf usgthe i rmation-abeve-to.graph the

¢ g |
4 9
CC(C&»(-\!// \

Plot points between and beyond each x-inter
rational function. Choose the correct graph below.

IR n}‘n
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Answers A. y = x+8
D. The graph has neither y-axis nor origin symmetry.

2
A. The y-intercept is 7

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The x-intercept is -21 l

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A x= 7 (Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. There is no horizontal asymptote.

ID: 3.5.85

1T FAR 6/18/2019. 12:45 PM
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62. Graph the given function by making a table of coordinates.

f(x)=2"
Complete the table of coordinates.
X -2 -1 0 1 2
y ‘ .

(Type integers or fractions. Simplify your answers.)

Choose the correct graph bel

o
Q A,

L = L =
Answers 1 r’?__z)f_- 2 - 21 z.z (i[

il

M| =

! 740}192 z( |

ID: 4.1.11

1R AF AR 6/18/2019. 12:45 PM
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a 79 <~ (({x

ba= -5 Xk

63. The graph of an exponential function is
given. Select the function for the graph. .

Identify the function.

DA fx)=4"-1 OB fxy= -4~ OB g=a"
e i o
Y ,,x’ ,[(0) o i I M " S
ID: 4.1.23 /({) T ¢ = ey 7@

cff'Mcv&,,
7 Lar(d%fﬂ)

64. Find the domain of the logarithmic function. .,CAJ“ 7 -—-x >O

f(x) = log (7 - x) %‘X‘- Z’ >0— 7
The domain of {(x) = log (7 - x} isl ; .__( > 7

(Type your answer in interval notation.}

Answer: (- 0,7) ;}-— —f 7
. ~——--.,:,\J O’L j 1
ID: 4.2.77 )( < 7 S

2=, 1

65. Use properties of logarithms to expand the Ioganthmlc expression as much as possible. Evaluate logarithmic expressions
without using a calculator if possible.

logb[xay] - Zuj (X ‘9) éCJ)}a ('is)

z5

FWMM
(A) L&, ﬂ) @5, Vo

Co 5 (/ ’y (’“ﬁ ;ﬂ/ il C"% (5/ ) o

o,
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66. Use properties of logarithms to expand the logarithmic expression as much as possible. Evaluate logarithmic expressions

without using a calculator i dshle, /
)b .

[ (x+9) ],@,(A/v—(-/ﬁ,, 4% — P (/(,fﬁ) —
[ 1 %(X/')‘(‘%Lfﬁ,/ 1“-—/@, ()(7‘7)

(x+9) J 7%6(]__# —L ——__7/@ (X#T) -
%F/' @/,ﬁ,// %(/fy ,V,g;m/
_ID4337%/J/%L£@}'1‘/&@/ _:r_ﬁfﬁff | -

Answer

67. Solve the following exponential equation by expressnng each side as a power of the same base and then equating

exponents. 2 X+ 2 Cx—3Y
T 2gr* (3) "“() 2)(59% fxvx'—%"“f‘x

o —2x = — 3§
The solution set is { }
2 35*”36 ~IX , —3%

PRS-,

- ~Z_
2x-¢ = -3¢ £

ID: 4.4.19 i&?”[f =36 @ L

Answer: 19

68. Solve the following exponential equation by taking the natural logarithm on both sides. Express the solution in terms of
natural logarithms. Then, use a calculator to obtain a decimai approximation for the solution.

5X
o =504 2C - %L{

What is the solution in terms of natural logarithms?

5% 2
The solution set is C - 2 S’

(Use a comma to separate answers as needed. Simplify your answer. Use integers or fractions for any numbers in the

expression.) ( é;{) /ﬁ ( 7¢2)
What is the decimal approximation for the solution?

-~ 252 )
The solution set is /éd €C / /@.4 /

(Use a comma to separate answers as needed. Round to two decimal places as needed.)

Answers In 252 § (/ ) - /g"’ / ’25‘2)
5 (= b (252)
1.11 _X_/&/zrg)

ID: 4.4.31 /7;7/%/23”5 (jﬂ“ _ @
LA/G;”;’KM W
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59. Solve the exponential equation. Express the solutlon |n terms of atural logarithms. Then use a calculator to obtain a

decimal approximation for the solutloy ”2 2 273

292z 3.0, fz - haiars)
What is the solution in terms of natural lo g /g‘} M/ /Z,. ( 27 52
The solution set is {:} = ( 2 )

{Use a comma to separate answers as needed. Simplify yo;z:swer Use integers or fractions for any numbers in the
expression.) )( . 3 . 2 3

What is the decimal approximation for the solution? ( 2)

The solution set is {:} )/ "'W/{ - —'—‘%ZILZ—B‘) —+ 3

(Use a comma to separate answers as needed. Round to two decimal places as needed.)

Answers In 223+3 @/QZV
mm Y T
g )

ID: 4.4.37 " Vk

70. Solve the following logarithmic equation. Be sure to reject any value of x that is not in the domain of the orlglnal logarithmic
expression. Gggthe exactanswer. [ ("

log ,(x+13)=2 e 2 <~ X—#/73

—
Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

2.2 = X3

() A. The solution set is { } (Type an integer or a simplified fraction. )
") B. There is no solution. (-f %] "f' / 3
| ¢~I3 = //s/ ~f 5
Answer: A. The solution set is ,{ -9 } {Type an integer or a simplified fraction. }
@
ID: 4.4.55 T o

i

B S

oot
71. Solve the logarithmic equation, Be sure to TE]ECI3 (y value of X that is not in the domain of the original logarithmic
{

expressions. Give an exact answer. é”j )l ex—1 ) | Zujl_‘,'( 1) —+ éu / {2(~1)~f )= |
/3= @1 - umj, (otet) = il

Select the correct choice below and, if necessary, fi II in the answer box to complete your choice

13 = (200 =X Coyig(~1)+ Loy (—13)= 1
() A. The solution set is { b (sze an exact answer‘lj simplified M) D 124 j)
() B. Thereisnosolution. (7 ={Z x —x—1 2 1

~C< 1 I)(/zx—-/})* Cos,, (Bt Loy, (M)*l)'r

. (Type an exact answer'in simplified form _
[E. —{
[LX~]3 =2 f),g(’)?—f (‘3 )=r

—~ p3A#7 <07/
(2x— 1 N, /}%,le? (12) ~
G 0‘0‘0/

41 of 48 s e s - ——FTTE2019, 12:45 PM
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72. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domain of the original logarithmic

expressions. Give the exact answer. 5-'055- (X-f'l(?.)(/f—-?.‘): 3 Zo; (-—/Z%flz)’fc% FIZS—.{) -~
log 5(x+122) + log g(x=2)=3

57 e ) (k) (Coyof=1) Hluso(-25) =3
Select the correct choice below and, if necessary, fill in the answer box to mplete your chouce§4 D 73 > D
J A. The solution setis { [7 $= )( +[flox —2% Y (o; (37‘/2?/—-1"(0.« (3"'(_{) 2

(Simplify your answer. Use a comma to separate answers as needed.)

() B. There is no solution. O'- ){ ——(—/Zu)(r—-z VQ/""'(&! C

— 053 - (e
Answer: A. The solution set is { ; LTS 364 -4 Gorvf G’ o /

(Simplify your answer Use a cornma to separate answers as neﬂed )
0 = ] -3
3Nt = s
iD: 4.4.69 ’('—3 - )(—f/ ks

X113 [Zj-—()"fZJ

S £ O W T '1"3
73. Solve the logarithmic equation. Be sure to ny value of x thal 15mo fhe-dGmain of the original logarithmic
expressions. Give the exact answer. éo ({-ﬁfg ‘ /6;( -/ = / )( -+ &0‘_ S
log4(x+12)-log4(x-3)=2 ¢ | [sX= 60
| L5 - 62
Select the correct choice below and, if necessary, fill i m the answer hox to #omplete your choice. /S‘ : S

K2 | Xz
O A, The solution set is { } 4[ X3 / (]‘)-(’ (] f( — #

{Simplify your answer. Use a comma to separate answers as needed. -
(u (710, (%-3) =

{_) B. There is no solution. __/__5 - X’f‘/ 2 Cf
/ A~ 3
~ lon (0L (l) =l
swer: A. The solution set is _ (6 (,(,_’5) / (("f’/l, j ) ‘-’)
(Simplify your answer. Use a comma to separate answers as needed.) k4 G‘cfi /

(X —SF = ( X/
ID: 4.4.71 /6 — q/"{'wﬂf’(#/“'lff )( "/ )
s J6X-— A X ~t ¢o :

74. Solve the logarithmic equation. Be sure to reject any value of x that is not in the domaln of the original logarithmic

expressions. Give the exact answe/’: u 5 ( L/ s & ) -~ Cu 5 M/é)

log (x+6)= log x+ log6 Cuj O(,fG/ CO /(,’,4) / ZO)(_S--/'G /Cﬁ/_(}f( )(6)

Select the correct choice below and, if necessary, fillin the answer box to complete yoJr chaic V( @
X6 = 6GX / 4 /
O A. The solution set is { }. )(’7"%/( T 64—~ 6 ."II
(Simplify your answer. Use a comma to separate answers as needed.)

() B. There is no solution. X< GX—¢
L X —6x = Gx—6 ~Gyx
Answer: A. The solution set is % T $X = G

(Simplify your answer. Use a comma to separate answers as needed.

ID: 4.4.77
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75. Solve the logarithmic equation. Be sure to reject as Zaolutlon any value that 15 not in the domain of the ortglnal lagarithmic

expressions,
2logx= log 36 —7 2(’0) (——C/ Cu; /ZC/

Select the correct choice below and, if necessary, fi II in the answer box to corhplete yo%hmce

1
'z = "i'l/ G
O A. The solution setis { )( \

(Type an exact answer in simplified form Use a comma to separate ans
() B. There is no solution. x - =+ =

( P\@ oA )( =
Answer: A. The solution set is { 6 j-_____

(Type an exact answer in simplified form. Use a comma to separate answe

Los

ID: 4.4.81

76. Solve the logarithmic equation. Be sure to reject any value of x that is not in the doTaln of the ongmal&tanthmtc

expressions. Give the exact answer. » /7, 3 )G >('—"3)- o j( zZr) éo/ad —+ Cuj (x ~3/ = u‘( cq/

log x+ log(x-3)= log 28 X(X-3) < ICUj f——‘/)-—f‘c/;ﬁ‘i’-}/ Cos (2 p
Select the correct choice below and, if necessary, fill in the answer box to complete -,i choice.
Xl 3)( &5# _{-Cu (7)‘50/(//

O A. The solution setis { — £ f J 5/]. p g p

(Simplify your answer. Use é_com_ma to sep nswers as eeded.) }Lw\_/—
() B. There is no solution. 3( —+ Cf - ; [0{7 ﬂu} [7._3/ éU/ (Zﬂ
)t/-f Y=o Cﬂ )( —7 =

{Simplify your answer. Use a comma to separate answers as needgd.)

XY=y TV O =] +7%0h 7

ID: 4.4.87 @ 0__ $

Answer: A. The solution set is 7 : (/ CU«‘ 9 < Zdy
L > ox 0)&7{ {—(f éu/ [‘é)c;/

A S

-

77. Complete the table for a savings account subject tééompound J,‘ é}érly

[A=P[1+—] ] /5000 /Zow//#‘ 7

Amounted Number of Annual Interest Accumulated Time t
Invested Compounding Periods Rate Amount in Years
$12,000 4 4.5% $15,000 ?

Let A represent the accumulated amount, P the amount invested, n the number of compcundlng periods, r the annual
interest rate, and t the time. Find the time, t. /s o ou (Z/uw(/—f XAy { 7

Zv o
S (oo o
(Do not round until the final answer. Then round to one decimal glace as net—zdtlﬁ'l // 25 ) - (f -é /L' {/ (/// z‘-}

. // T 0//645 ) &( b (1.0/12+) (’4}« f lotizs )
Answer: 5.0 / 23’ - (-/ orles 7 ) ‘*QI\WJ

ID: 4.4.107 b (liee) ~ £ (/ 0/(2¢)
S G pin b o)
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78. Complete the table for a savings account subject to continuous compounding.

ol &
(a=Pe") /9000 = 9500 &
Amount Investad Annual Interest Rate Accumulated Amount Time tin years
$9500 11% $19,000 ?

Let A represent the accumulated amount, P the amount invested, r the annu%l Jnterest rate, and t the time. Find the time, t.

/ Fsov &
Em— T e ORI

{Round to one decimal p!ace as needed. )T / [ c’ sOJ
L

e“é/~__%v_2//4

Answer; 6.3 - / / "//
/@h (a): .//g%ﬁ/ L2 e - j

&u)— ey ez = Rounef

79. The exponential model A=46.4 ¢ 0.02t yoscribes the population, A, of a country in millions, t years after 2003. al.l(s%l_‘le
model to determine when the population of the country will be 74 million. /' —
200 1599721 = C

- (l.ca<rger) '%(0029 J\

population of the country will be 74 million in

i nd to the nearest year as needed.) (.07 ¢
202 e © LA (1s59727) = goee
y64rLAnswer. 2026 - wui CO Ol /é\ {/.. 9 C(f27) = Or 07 ¢ {1/ '\,#'54“':._

] shGriy)  ORE S 6)

o Ofa"L

ID: 4.5.5 9‘" 1 7&/
OOl 3 _
——_—‘.::-—_..,____..-__i - —

80.  An artifact originally had 16 grams of carbon-14 present. The decay model A=16¢ =0.000127 4o cribes the amount of
carbon-14 present after t years. Use the model to determine how many grams of carbon-14 will be present in 5482 years.

e

The amount of carbon-14 present in 5482 years will be approxlmately grams.
(Round to the nearest whole number.) /? / 6 C O. Qo 1. £

Answer: 8 /4 /6 67/(( d.060f2/ (S’?ZL))

ID4515@ B a‘fw% /4 , fgun/

— '___._A—l-l—n-l=_—_______‘__“
81. Prehistoric cave paintings were discovered in a cave in France. The paint contained 26% of the original carbon-14. Use
the exponential decay model for carbon-14, A=Aj ¢ _0'00012", to estimate the age of the paintings.

The paintings are appraximately ‘——_—) years old. (Round to the nearest integer.)
— o —
26:/0060‘6 oltf< Z"“‘Z():_ 0.0vui(e | ¢

o 7N —C, QW | —0. Oovuf )
.20 ~O. 0001/ €

| masge 046 T CF —-oaaumd Qj/}z Jrow? =€
ol g fx(e 7 =

/é\ /026) —0, 00 (2] € -
j(ol()’: —~0.,000(21 é[}/ (l /33 _._t)
A (s26) =—0. Co0 2 £ / /(0(4[/\0(

_ e
A4 afag — = 6/18/2019, 12:45 PM

Answer: 11,133
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82. In 1964, paleontologists discovered the bones of a new species of dinosaur. The age of the dinosaur was estimated using
potassium-40 dating of rocks surrounding the bones. Analysis of these rocks indicated that 95.1% of the original amount of

the potassium-40 was still present. The decay model for potassium-40is A=Ay ¢ '0'52912', where tis in billions of years,
Let A=0.951A, in this decay model and estimate the age of the bones of the dinasaur. —~0.57 91 L

The bones ar tel billi id. Hdg/’ (oqu ’d" ('<>
e bo e approximately ] illion years o
(Type an integer or decimal rounded to four decimal places as needed. }/g»\ ( isi)= — 052497 ¢ ﬁwﬁ" Fi

a5.1= /00 & Al € g, (.G 51) = —0,825(2¢ (1)

Answer: 0.095 00 ~ o0 /K‘( G51)= —0. £29(7 ¢
~OSLTINE g (,551) — =—0.$2902¢

ID: 4.5.27 o751 = c —~o..§2'-”/1, —U, 529/ ¢

" ——<= 0477 =

B3. In2
Use the formula t= —— that gives the time for a population, with a growth rate k,

k
questions. /? _ 7 60’ w &

The growth model A=7 ¢ e describes the population, A, of a country in myfllions, t years after 2003.

e 7Y g ) 0.053¢

a. What is the country's growth rate?

7 7
0./ou3¢ 0003
’ 2= O 0% -
b. How long will it take the country to double its population? 2 { . 03/ 70 602, = 'Q
]years {Round to the nearest w /hznumber)a LOu 3¢ m
/&4 ( )=

Answers 0.3 /& /L) - 0 003€ FA :=_;_
0030, (3 | =T

iy r2)E
ID: 4.5.35 /éa/L)t 0. OuBé / f(()v\n/{ T

84. Rewrite the follgWwing equatlon in terms ofisfﬂmund any natural logarithms to three decimal places.
y=84(6.1)" \j B 5(/6'&‘ (6.1 x Ve ivri %k
[ FOYLTi77( X

Type the model in terms of base e.

T Yy={y

, 09Y X

Answer: gq . 1-808x

#

_.—-—'—"'"/

ID: 4.5.53
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85. Rewrite the following equation in terms !pf base e. Round any natural logarithms to three decimal places.
. N )<
y=4.9(0.2)° [\h_d..f 9 % (/ —/ﬁ“ ( C.l)

Type the model in terms of base e. GJ /‘ (ch ¥ 379/

e I =y Y B VEEE
Answer: 4 g , ~ 1.609x tﬂ (?/ C, )

ID: 4.5.55

86. Solve the given system of equations. [_ 7 \

x+y +52=15 &M{) //Mcr,rf.,( f:op ,L 3A/(/
fl ’&P'_""‘L:L / / rg— /\“"

X+y+2z= 3 :
Xx+8y+09z2=17 [K : -_—;"—'-5-3—-—,r’—-——~.-u
Select the correct choice below and fill in any answer boxes witRin your chouce / 5 ci [ 9
PAP NN }""‘L'-‘/f,(/ QJL’ I/)r_(

) A. There is one solution, The solution set is

o Lo
{( . . )} {Simplify your answers.)
() B. There are infinitely many solutions.
(O €. There is no solution. V‘/‘( [ ([—D [ O / - j
;

Answer: A
There is one solution. The solution set is {( -3 ! -2 X 4 ) }- (Simplify your
answers.)
e 600, D= (8,7, )
— s _____-_—m-_—'-_‘-"_"‘"---—-_.__,_____,.,

46 of 48 6/18/2019, 12:45 PM
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87. Write the first four terms of the sequence whose general term is given.

_ 2n
= h+6

a;= _' {Simplify your answer.)

8y = (Simplify your answer.)

aq = (Simplify your answer.) M

a; = (Simplify your answer.) ;
20 . —
A ([~ G @
Answers

G~ 2 T 2

6
? o
Q . 2’@) - —az,_ (5[ — \ {
t ?‘:f: o k)
ID: 8.1.9

88. 3
Find the indicated sum. Y ii+2)
i=1

R(b+1) £ 2(2+v) + S(B+1)=

s W e N
w M
~N
w
S~

3

Yii+2y=[ [(simplify your answer)
T ) () 3(s)s

Answer: 26 3 " X T / 1

ID: 8.1.33 @ (_d___/

A —
Y S T 3

89. Use the binomial theorem to expand §|e bmomlal

-y S (30(’5) ~t C (3/)(”5) ‘r‘ C(gf)/’b)‘f C@/)f 3/
ﬁ_ ST fé“"i}"i”—f/ )39 6+ 2096) (1) (o(—m,..

Answer: 27,3 _ g1x? +B1x - 27

% /7 ?x/}f-s)+3(%f)fs)+(/)//)(27)
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=
: @al expansion, g;ﬁressing the result in simplified form.
(x+5)* o

The first three terms of the binomial expansion are
(Simplify your answer.)

90. Write the first three terms

Answer: y* 4 20x3 + 150%°

ID: 8.5.31

C(x)m s C&/(r/ . (@/yr/ﬂ
(/) (%)//) 'f@)(///r)—f /é)(x)(m
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